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1. (3 Pts) A 0.18 M HNO, solution is 5.7% ionized. Calculate the H" ion concentration.

ANOL = HT + M )= 0,18 x 0.057 = 0.0/02.C M
0. 1M $.7%

2. (6 Pts) 50.00 mL of 0.10 M HNO, (nitrous acid) was titrated with 0.10 M NaOH solution.
Determine the pH in the titration flask after 25.00 mL of NaOH solution was added. (Given K, =4.5 x
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3. (6 Pts) Calculate the pH of a 0.13 M NH; solution. K, =1.8 x 10"
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4. (6 Pts) Calculate the pH of 100.0 mL of 0.15 M benzoic acid (HC6H5C02) solution. GivenKa =
6.5 x 107 for benzoic acid. i/ . S
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5. (4 Pts) Identify all acid—base conjugate pairs.
In the reaction: CN  + H,0 2 HCN + OH
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